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m‘.(A—B'AR:):o L BX+2y+52-19=0.
1 1
6X,+2y, +52 ,-19=6(1)+2(-1)+5(3) - 19=0.
2 X=A;y=-3A+2 ,2=3 Y5
AB (-2;1;2) and DC (-2;1; 2) then AB=DC , ABCD isa parallelogram;
AB = BC =3, itisarhombus.
> Or :
32 |aB=BCc=CD=DA=3 L
I - > Or :
[AC] et [BD] have the same mid point and AC.BD=0.
The diagonals of the rhombus are perpendicular and they have the same mid
point H :
. 1 J26
Distance (A ; (d))=AH = = AC = ——.
3(b) (A () 2 2 1
|6 6
> Or ; Distance (A ; (d)) = ————— .
=
1(a) ||z-9=|zy—2z5|=BM |z-1=[z\,-z|=AM and |z'| =OM' 1
OM' =1 then MB = MA , the set of points M is the perpendicular bisector of
1(b) 1
[AB] .
X +iy'= X-5+iy (X=5+iy)(x-1-iy) x*+y’—6x+5+4diy
" LY (xa) ey (-1 +y° 1
a
. X*+y*—6x+5 . 4y
(x-1)" +y? (x-1)" +y?
2(b) |z isrealso y =0then y=0and M moves on the axes of abscissas. Y2
A(1) | The average age is equal to 36.75 years. Y2
Age [20 ; 30[ [30; 40[ [40 ; 50[ [50 ; 60]
I.C.F. 13 25 35 40
- A(2-3) 1
20




A2-b) X —30:20—13 Yo = 35.8
40-30 25-13
35,8 is the median of this distribution or 50 % of the employees of this 1
factory hawve an age less than or equal to (greater than or equal to) 35,8
years.
1 ~1 1 3
B |PE)= ZsS0Cs 1250 _ 1960 p(G)= Si5= 4% 046 1
Clo 9880 C, 9880
1,11
B2) |PE/G) = %8 10 _ 405 o p(ENG)=P(G) x P(EIG) =001 | 1%
Cis 455
1| lim f(x) 20+1-Cc—co. "
x—0" 0"
lim £(x)= lim (1X+£+In—xj:+oo
X—>+00 X—>+00 X X
2(a) L 11 1
lim (f(x) ——x) — lim (—+Mj=o.
X—>+00 2 X—>+o0| X X
2(b) f(x):lxthen 1+Inx=0, So x:Eand E(l;i). 1
2 e e 2e
1 1-1-Inx x*-2Inx
3 f'(x)= =+ = : Yo
) 2 x? 2x°
4@ |f'(x) = &Xz) with h(x) > 1then f'(x) >0 and f isstrictly increasing. Ya
X
4(b) Y:(X—l)f'(1)+f(1):%x+1. 1
Y D
A
(d)
— 1 » X
6 = =—Uu-. 1%




